

Name \Rightarrow Oyeyemi John Olabamiyi
 Department \Rightarrow Computer Engineering
 Course \Rightarrow Math. 104
 Mat. No \Rightarrow 19/Eng02/061
 Serial No \Rightarrow 220
 Date \Rightarrow 24/05/2020

(1) $\frac{dy}{dx} (2x^2 + 3) / \ln(2x)$

$$\frac{dy}{dx} \frac{[2x^2 + 3] \cdot \ln(2x) - (2x^2 + 3) \cdot \frac{d}{dx} [\ln(2x)]}{\ln^2(2x)}$$

$$= \frac{(2 \cdot \frac{d}{dx} [x^2] + \frac{d}{dx} [3]) \ln(2x) - (2x^2 + 3) \cdot \frac{1}{2x} \cdot \frac{d}{dx} [2x]}{\ln^2(2x)}$$

$$\frac{(2 \cdot 2x + 0) \ln(2x) - (2x^2 + 3) \cdot \frac{2 \cdot \frac{d}{dx} (x)}{2x}}{\ln^2(2x)}$$

$$= \frac{4x \ln(2x) - \frac{(2x^2 + 3) \cdot 1}{x}}{\ln^2(2x)}$$

$$= \frac{4x \ln(2x) - (2x^2 + 3)}{x \ln^2(2x)}$$

$$= \frac{4x}{\ln(2x)} - \frac{2x^2 + 3}{x \ln^2(2x)}$$

at $x = 2.5$

$$= \frac{4(2.5)}{\ln(2(2.5))} - \frac{2(2.5)^2 + 3}{(2.5) \ln^2(2(2.5))}$$

$$= 3.8198 \approx \underline{\underline{3.82}}$$

(2) $\frac{d}{dx} \left[\frac{2x}{x^2 - 5} \right]$

$$= 2 \cdot \frac{d}{dx} \left[\frac{x}{x^2 - 5} \right]$$

$$= \frac{2 \cdot \frac{d}{dx} [x] \cdot (x^2 - 5) - x \cdot \frac{d}{dx} [x^2 - 5]}{(x^2 - 5)^2}$$

$$= \frac{2(x(x^2-5)) - \left(\frac{d}{dx}[x^2] + \frac{d}{dx}[-5]\right)x}{(x^2-5)^2}$$

$$= \frac{2 \left[(x^2-5) - \left(\frac{d}{dx}[x^2] + \frac{d}{dx}[-5]\right)x \right]}{(x^2-5)^2}$$

$$= \frac{2(x^2 - (2x+0)x - 5)}{(x^2-5)^2}$$

$$= \frac{2(-x^2-5)}{(x^2-5)^2}$$

$$= \frac{-2(2)^2 - 10}{[(2)^2-5]^2}$$

$$= \frac{-18}{1}$$

Coradient = -18 //

$$(3) z = 2x^2 \ln y$$

$$u = 2x^3$$

$$v = \ln y$$

$$\frac{du}{dy} = 6x^2 \frac{dx}{dy} \quad \frac{dv}{dy} = \frac{1}{y}$$

$$\frac{dz}{dy} = 2x^3 \cdot \frac{1}{y} + \ln y \cdot 6x^2 \frac{dx}{dy}$$

$$\frac{dz}{dy} = \frac{2x^3}{y} + 6x^2 \ln y \frac{dx}{dy}$$

$$(4) \int_0^2 x(2x^2+1)^{1/2} dx$$

$$\text{Let } u = 2x^2 + 1$$

$$\frac{du}{dx} = 4x$$

$$du = dx \cdot 4x$$

$$dx = \frac{du}{4x}$$

$$\int_0^2 u^{1/2} \cdot \frac{du}{4}$$

$$\frac{1}{4} \int_0^2 u^{1/2} du$$

$$\frac{1}{4} \left[\frac{u^{3/2}}{3/2} \right]_0^2$$

$$= \frac{1}{6} \left[(2(2)^2 + 1)^{3/2} - (2(0) + 1)^{3/2} \right]$$

$$= \frac{1}{6} [27 - 1]$$

$$= \frac{1}{6} [26]$$

$$= 4.333$$

$$\underline{\underline{= 4.33}}$$